LI: To use short division to solve word problems
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Afirework factory packs rockets in boxes of 2 and sells them at £5 a box.
How many full boxes can be made with 49 fireworks?

In the football club's changing room there are 51 socks, all the same size and in the team's
colours.
How many pairs of socks are there?

36 cans of cola will be ordered for the class party.
Cans come in packs of 4.
How many packs will be ordered?
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In Pets Corner at the zoo, 60 carrots are shared equally between 10 rabbit hutches.
How many carrots go in each hutch?

24 children will be at a party.
Mum is allowing for 1 slice of pizza for each child.
If each pizza is divided into 6 slices, how many pizzas will be needed?

Brian eats 28 slices of bread in a week
If he eats the same amount each day, how many slices does he eat in a day?

How many 10p coins could you change £3.60 for?
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A pack of 3 chocolate bars weighs 240 g and costs £1.20.
What does one chocolate bar cost?

Dad spends £30 on pantomime tickets for his 4 children.
How much does each ticket cost?

Sarah has collected 473 one pence coins. How much is her collection worth?




